Multiple Choice Questions Testbank – Chapter 5
Go to memorandum


Answer the following questions by selecting the appropriate answer from the list below.
Which one of the following statements is correct?

A. If a minimum price is set above the equilibrium price, the market will be unaffected.

B. If a minimum price is set below the equilibrium price, the market will be unaffected.

C. The imposition of minimum prices does not affect market outcomes.

D. If a minimum price is set below the equilibrium price, an excess demand will develop.

In the market for IPADs, assuming everything else remains unchanged, the equilibrium price of IPADs will decrease if:
A. there is a shortage of IPADs.

B. the price of iPhones, a complement, decreases.

C. the supply of IPADs decreases.

D. the price of Samsung Galaxy tablets, a substitute in consumption, increases.

E. there is a technological improvement in the manufacturing of IPADs.

There is an increase in the number of adverts highlighting the dangers of consuming sugar. Which of the following is likely to occur in the market for sugarless sweets, as a result of this?

A. An increase in both price and equilibrium quantity traded.
B. A decrease in price and an increase in equilibrium quantity traded.
C. A decrease in both price and equilibrium quantity traded.
D. An increase in price and a fall in equilibrium quantity traded.
E. None of the above is likely to result.
In the market for first-year economics textbooks, assuming everything else remains unchanged, the equilibrium price of textbooks will increase if:
A. there is a surplus of textbooks.

B. the price of university education, a complement, increases.

C. the supply of textbooks increases.

D. the cost of the publication of textbooks increases.

E. there is a drop in the cost of paper necessary to produce textbooks.

If the price and the quantity of beer decrease, it is likely that:
A. demand for beer has increased.

B. demand for beer has decreased.

C. supply of beer has decreased.

D. supply of beer has increased.

E. supply and demand for beer have both increased.

If the price of 3G data bundles, a substitute for fixed-line data bundles, decreases, then:
A. the supply curve of fixed-line data bundles will shift to the right.

B. the demand curve for fixed-line data bundles will shift to the right.

C. the equilibrium quantity and price of fixed-line data bundles will not change.

D. the quantity of fixed-line data bundles demanded will increase.

E. the demand curve for fixed-line data bundles will shift to the left.

The equilibrium price of rhino horns will increase if, ceteris paribus:
A. consumers are more aware that there are no medical benefits from rhino horn 

consumption.
B. there is a surplus of rhino horns.

C. the supply of rhino horns decreases.

D. rhino horn is a normal good and income decreases.

E. a and c above.

Which of the following will definitely cause an increase in the equilibrium price?

A. An increase in both demand and supply.
B. A decrease in both demand and supply.
C. An increase in demand combined with a decrease in supply.
D. A decrease in demand combined with an increase in supply.
E. Any of the above, depending on the circumstances.
Which of the following will definitely result in a decrease in the equilibrium price of a good?

A. An increase in both demand and supply.
B. A decrease in both demand and supply.
C. An increase in demand together with a decrease in supply.
D. A decrease in demand together with an increase in supply.
E. A decrease in supply only.
Use the diagram below to answer the question below.

[image: image1.jpg]Price of pies

Quantity of pies




The diagram depicts a decrease in the demand for pies on a campus. If at the same time there was a rent increase for food outlets on campus, then in comparison with the original equilibrium E0, there would be:
A. an increase in equilibrium price and quantity.

B. an increase in equilibrium quantity but a decrease in price.

C. a decrease in equilibrium quantity but an increase in price.

D. a decrease in equilibrium quantity but an indeterminate effect on price.

E. an increase in equilibrium quantity but an indeterminate effect on price.

Use the diagram below to answer the question below.
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The diagram depicts an increase in the demand for wine, following research reports highlighting the benefits of its consumption to one’s health. If at the same time there was a strike by workers on wine farms, then in comparison with the original equilibrium E0, there would be:
A. an increase in equilibrium price and quantity.

B. an increase in equilibrium quantity but a decrease in price.

C. a decrease in equilibrium quantity but an increase in price.

D. a decrease in equilibrium quantity but an indeterminate effect on price.

E. an increase in equilibrium price but an indeterminate effect on quantity.

In the market for diamonds, assuming everything else remains unchanged, the equilibrium price of diamonds will decrease if

A. there is a shortage of diamonds.

B. the price of gold, a complement, decreases.

C. the supply of diamonds decreases.

D. the price of cubic zirconia’s, a substitute, increases.

E. there is a technological improvement in mining equipment.

There is an increase in the number of adverts highlighting the dangers of consuming artificial sweeteners (as opposed to sugar). Which of the following is likely to occur in the market for sugar, as a result of this?

A. An increase in both price and equilibrium quantity traded.

B. A decrease in price and an increase in equilibrium quantity traded.

C. A decrease in both price and equilibrium quantity traded.

D. An increase in price and a fall in equilibrium quantity traded.

E. None of the above is likely to result.

If the price and the quantity of curtains exchanged falls, it is likely that

A. demand for curtains has increased.

B. demand for curtains has decreased.

C. supply of curtains has decreased.

D. supply of curtains has increased.

E. supply and demand for curtains have both increased.

If the price of powdered milk, a substitute for fresh milk, falls then

A. the supply curve of fresh milk will shift to the right.

B. the demand curve for fresh milk will shift to the right,

C. the equilibrium quantity and price of fresh milk will not change.

D. the quantity of fresh milk demanded will increase.

E. the demand curve for fresh milk will shift to the left.

The equilibrium price of wine will increase if, ceteris paribus,

A. consumers are more aware of the risks of alcohol abuse.

B. there is a surplus of wine.

C. the supply of wine decreases.

D. wine is a normal good and income decreases.

E. all wine adverts are banned.

Consider the market for South African biltong. Assuming everything else remains unchanged, the equilibrium price of biltong will decrease if

A. there is a shortage of biltong.

B. the price of beer, a complement, increases.

C. the supply of biltong decreases.

D. the price of peanuts, a substitute, increases.

E. there is an animal disease that affects the supply of biltong.

Consider a decrease in the demand for domestic air tickets in South Africa. If at the same time there were a rise in the cost of insurance of airlines, then in comparison with the original equilibrium, there would be

A. an increase in equilibrium price and quantity.

B. an increase in equilibrium quantity but a decrease in price.

C. a decrease in equilibrium quantity but an increase in price.

D. a decrease in equilibrium quantity but an indeterminate effect on price.

E. an increase in equilibrium quantity but an indeterminate effect on price.

Consider the demand and supply of labour in the sugar industry. If there is a minimum wage in this industry (above equilibrium wage/price), then the effect of removing this minimum wage would be to

A. increase the equilibrium price (wage) and increase the quantity of labour demanded.

B. decrease the equilibrium price (wage) and remove the shortage of labour.

C. decrease the equilibrium price (wage) and remove the surplus of labour.

D. increase the equilibrium price (wage) and cause a shortage of labour.

E. none of the above.
Which one of the following will not cause an increase in the demand for cabbage?

F. A decrease in the price of cabbage.

G. An increase in the price of cauliflower (a substitute).

H. A decrease in the price of meatballs (a complement).

I. An increase in consumers’ income.

J. A greater consumer preference for cabbage.

Which one of the following will not cause an increase in the demand for cement?

K. The government launches a major new construction programme.

L. The construction of a large new dam in Limpopo.

M. A major new housing project in Mpumalanga.

N. An expected decrease in the price of cement.

O. The construction of a new power station by Eskom.

Which one of the following will not affect the demand for bananas, and therefore leave the demand curve unchanged.

P. An increase in the price of a substitute product (eg avocados).

Q. A decrease in the price of a substitute product (eg apples).

R. An increase in consumers’ incomes.

S. A decrease in consumers’ incomes.

T. An increase in the price of bananas.

Which one of the following will not lead to a decrease in the demand for petrol?

U. Motorists switch to motorcars that use diesel rather than motorcars that use fuel.

V. A decrease in consumers’ incomes, forcing them to travel less.

W. An expected fall in the price of petrol.

X. An increase in the prices of motorcars.

Y. An increase in the price of petrol.

Which one of the following statements is incorrect?

An increase in the supply of plastic bags:

Z. may be illustrated by a rightward shift of the supply curve.

AA. may be caused by an increase in labour productivity.

AB. could be the result of lower wages in the plastic industry.

AC. could be the result of a decrease in the cost of producing plastic bags.

AD. may be illustrated by an upward movement along the supply curve.

Which one of the following statements is incorrect?

A. An increase in supply tends to result in a lower price.

B. An increase in demand tends to result in a higher price.

C. A simultaneous increase in demand and supply has an uncertain impact on price.

D. A simultaneous increase in demand and supply tends to result in a higher equilibrium quantity in the market.

E. The impact of a simultaneous decrease in demand and supply on the equilibrium quantity is impossible to predict.

Suppose A and B are substitutes. Which one of the following statements is incorrect?

AE. An increase in the price of A will lead to an increase in the demand for B.

AF. An increase in the price of B will result in an increase in the demand for A.

AG. An increase in the price of A will lead to a rightward shift of the demand for B.

AH. An increase in the price of A will lead to a leftward shift of the demand for A.

AI. An increase in the price of A will eventually tend to result in an increase in the price of B as well.

Suppose C and D are complements. Which one of the following statements is incorrect?

AJ. An increase in the price of C will result in a decrease in the quantity demanded of C and will therefore also lead to a reduction in the demand for D.

AK. A decrease in the price of C will result in an increase in the quantity demanded of C and will therefore also lead to an increase in the demand for D.

AL. An increase in the price of C will eventually tend to lead to a decrease in the price of D, once all the interactions have been taken into account.

AM. A decrease in the price of C will eventually tend to lead to an increase in the price of D, once all the interactions have been taken into account.

AN. An increase in the price of C can be illustrated by a shift of the demand curve for C.

Which one of the following statements is incorrect?

Governments set maximum prices:

AO. to boost the efficiency of the market mechanism.

AP. to assist the poor.

AQ. to avoid exploitation.

AR. to combat inflation.

AS. to limit the production of certain goods and services.

If government sets a maximum price above the equilibrium price:

AT. a surplus will develop.

AU. a shortage will develop.

AV. excess supply will develop.

AW. excess demand will develop.

AX. the market will be unaffected.

If government sets a maximum price below the equilibrium price:

AY. the market will be unaffected.

AZ. the quantity supplied will be greater than the quantity demanded.

BA. a market shortage will develop.

BB. the market will still be able to fulfil its rationing function.

BC. there will be an excess supply.

Which one of the following statements is incorrect?

If government sets a price ceiling below the equilibrium price:

BD. the market cannot fulfil its rationing function.

BE. a black market may develop.

BF. consumers who are able to obtain the product may resell it to other consumers at higher prices.

BG. the government would have to devise plans about how to get rid of the surplus.

BH. the market forces of supply and demand are prevented from eliminating excess demand.

Which one of the following statements is incorrect?

Rent control:

BI. is often driven by praiseworthy motives.

BJ. is the most effective strategy to solve the housing crisis.

BK. has various unintended consequences.

BL. tends to result in shortages of rental accommodation.

BM. prevents market forces from fulfilling their rationing and allocative functions.

Which one of the following statements is incorrect?

A minimum price:

BN. is effective only if it is set above the equilibrium price.

BO. below the equilibrium price has no impact on the market.

BP. above the equilibrium price results in a market surplus (excess supply).

BQ. below the equilibrium price results in an excess demand (market shortage).

BR. above the equilibrium price requires further measures to deal with the market surplus.

Which one of the following is not, strictly speaking, an option for dealing with a market surplus resulting from the imposition of a minimum price for maize?

BS. The government purchases the surplus and stores it.

BT. The government purchases the surplus and exports it.

BU. The government purchases and destroys the surplus.

BV. The government sells the surplus in the domestic market at low prices.

Which one of the following statements is incorrect?

BW. Government may grant a subsidy to producers in order to lower the price of a good to the consumer while at the same time stimulating the production of the good.

BX. Government may use excise taxes to raise the price of “sinful” goods such as cigarettes, while at the same time raising revenue.

BY. Government may intervene in the market by imposing production quotas.

BZ. To be effective, a production quota has to be introduced above the equilibrium quantity.

CA. Government sometimes imposes import tariffs in an attempt to reduce the loss of production and employment as a result of imports.

Which one of the following does not share in the burden of an excise tax on wine?

CB. The consumers of wine.

CC. The owners of private wine companies.

CD. The shareholders in public wine companies.

CE. The workers in the wine industry.

CF. The government.

Which one of the following statements is incorrect?

An import tariff on imported clothes:

CG. raises the price to domestic consumers.

CH. reduces the volume of imports.

CI. is aimed at increasing domestic production.

CJ. raises revenue for government.

CK. has no welfare cost to society (ie no deadweight loss).

Agricultural prices:

CL. tend to be more stable than other prices.

CM. do not respond much to changes in supply.

CN. often vary significantly, even if demand remains unchanged.

CO. are not influenced by the forces of supply and demand.

CP. are all administered prices.

Which one of the following statements is incorrect?

In a speculative market:

CQ. market participants’ behaviour is guided by expectations.

CR. an expected price increase will tend to result in an increase in supply.

CS. an expected decrease in price will tend to result in a decrease in demand.

CT. that which is expected to happen will occur now, if all market participants have the same expectations and these expectations are incorporated into their current behaviour.

Which one of the following statements about the gold market is incorrect?

CU. If buyers all expect a price increase, the demand for gold will increase.

CV. If sellers all expect a price increase, the supply of gold will increase.

CW. If sellers and buyers all expect a price increase and incorporate this expectation into their actions, the price of gold will increase immediately.

CX. If buyers all expect that the price of gold will fall, the demand for gold will decrease.

CY. If different market participants have different price expectations, it is impossible to predict what will happen to the price.

Which one of the following statements is incorrect?

CZ. Fixing a maximum price for diesel above the equilibrium price will result in an excess supply of diesel.

DA. Fixing a maximum price for rugby tickets below the equilibrium price will result in an excess demand for rugby tickets.

DB. Fixing a maximum price for soccer tickets below the equilibrium price may lead to black market activity.

DC. Black market activity will occur only if there is a market shortage of the good or service.

DD. Fixing a maximum price below the equilibrium price results in a welfare loss to society (ie a deadweight loss).

Suppose rent control is in force in a particular town, with the rent fixed at a level which is lower than the equilibrium rent. Which one of the following is likely to happen if rent control is abolished?

DE. The supply of housing will decrease.

DF. The quantity of houses demanded will increase.

DG. Rents will increase and the quantity of houses supplied will also increase.

DH. Rents will decrease and the quantity of houses supplied will also decrease.

DI. The quantity of houses demanded will remain unchanged.

Suppose the government sets a maximum price for maize that is lower than the equilibrium price in a competitive market. Which one of the following will not tend to occur?

DJ. An excess supply of maize.

DK. A shortage of maize.

DL. An excess demand for maize.

DM. A black market.

DN. A disequilibrium situation.
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